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MATHEMATICS
Time Allowed—3 Hours Maximum Marks—80
Candidates are required to give their
m@hﬁdrmm&suhas
practicable.
Marks allotted to each question are

indicated against it.
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vt Section-B has 5 very short answer type

questione from 17 to 21 of 2 marks each.

ux)  Section-C has 6 short answer type
questions from 22 to 27 of 3 marks each.

(x) Section—D has 4 long answer type questions
from 28 to 31 of 4 marks each.

(xi) Section—-E has 4 very long answer type
questions from 32 to 35 of 5 marks each.
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1. The set of boys in a girls school is :
(a) a null set
(b) a singleton set

(e) an infinite set

(d) None of these. 1
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(i)  While answering your Questions, you m
indicate on your Answer-book the s,

Question No. as appears in your Questj
Paper.

Gii) Do not leave blank page/pages in -.
Answer-book.

(iii) All questions are compulsory.

I

I

Giv) Inhrna]ehoimgmglvminmmq pstions
the:f-udnnthuhlttunptonlyomafﬂu
alternatives.

(v) Answers should be brief and to the

(vi) This Question paper contains five sections
i.e. A, B, C, D and E.

(vii) Section-A has 18 MCQ (Multiple Choice
Questions) 1 to 18 of 1 mark each.
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2. The number of subsets of a set having
.elements is :

(a) 2n
(b) n?
(e). - 2n

. {&] 2 -~ 1. 1

[

3. If R is a relation on a finite set A having p &
elements, then the number of relations on A

is ;

(@) 2m

{b.) 2o

@ a7 Y
d)y nan®
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) Section-B has 6 very short answer type

questions from 17 to 21 of 2 marks each.

ux)  Section—C has 6 short answer type
questions from 22 to 27 of 3 marks each.

(x) Section—D has 4 long answer type questions
from 28 to 31 of 4 marks each.

(xi) Section-E has 4 very long answer type
questions from 32 to 35 of 56 marks each.

SECTION-A

1. The set of boys in a girls school is :
(a) a null set
(b) a singleton set

{c) an infinite set

(d) None of these. 1
D-M-3567 3 P.T.OQ.

2. The number of subsets of a set having n|

.elements is :
_ (a) 2n

(b)) n?

(). 2=

v @ 2moy, 1

3. fRisa rtl_nt-inn on a finite set A having n é
elements, then the number of relations on A

(a) 22

ﬂ::] 22"

@ a2 ~
d) n= ‘
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The degree measure

Hn

£ radian s :

(a) 210°
(b) 510°
(c) 300°

(d) None of these.

5. sin(§+:]=

(a)

(b)

(e)

(d)
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5in X

CoOB X

R

¥ =0z
corresponding  to 8. The Value of i’ is:

(a) i
b) i

(&) -1
@ 1L

7. The a+ib form of complex number Z =i
18 -

(a) Z =0+ 0i

. b) Z=0+i
- - ) (e) Z =1+ 0i
d Z=1+i
8. Ifn =§ and r = 3, then the value of *C, is
(l_] 10
(b) 30
| (e) 10!
; 1 d 15 1
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10.
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The 10th term of the G .

(b) 510

(e) 512

(d) 65, ‘ - 1

The slope uflmmwmﬁﬂ“*

(3, — 2) and {?r-mi. .
@ 0
(b)y 1

(e) -1

(d) Not defined.
P T O.

12. The foci of Ellipse E,--rf;-l is :

13. The value of kim &1

=0 x
(a) o0
b 1
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11. The vertex of the parabola y?= - 4ax iy .

(a) (-9, 0)
(b) (9, 0)
(e (0,0

(d) None of these.

@ (0

(®) (xae,0)

(€) (0, +ae)

W) Noos of thise. R )




Tl

T:A

14. The value of limn
K=+

(a)

(b)

(e)

{d)

15. %{tmxh

(a)

(b)

(e) -

(d)
D-M-357
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X

1

=,

- cosec® x

secxtanx

2

sec x

COSX,

P TO.

16. The derivative of f(x)=3 at x =3 in .

17

18.

(@). ©
(b) 2
) 3
(d) 9,

SECTION-B

A wheel makes 360 revolutions in ene minute.

Through how many radians does it turn in

one second 7 2

Express in the form of a + ib

. il®

Or

Solve the following equation:

x? +8x+9=0. ' 2
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19 'E\'llu-tt t—“-_—m whenn - 6 and r = 24. Without using distance formula, show that

Or
4-digit numbers are there with no venk?! o s Parnlislogrum.
How many
digit repeated ? 2 Or
20. Find the derivative of : The line through the points (h, 3) and (4, 1)
' 5si 2 <5 2 intersects the line 7x-9y-19=0 at right
= —-DC08X .
ftl) e angles. Find the value of h. 3
itive of the statement, If x
1. Write the contrapositive ; . . i
is -pﬁmﬁnumber.thn:ilndd. 2 25. Find the equation of the circle passing through
the points (2, 3) and (-1, 1) and whose centre
SECTION-C is on the line x-3y - 11=0.
Or

22. Prove that o esx

Find the Co-ordinates of the focus, axis of the
parabola, the equation of directrix and length

23. Solve the inequality :rlphiull:_r : of latus rectum of y2 =12x 3

I'l'rz"l hrr-:ﬂ. i
26. If the origin is the centroid of triangle

or o PQR with vertices P(2a, 2, 6), Q(~4, 3b, ~10)
Solve the system of inequalities graphically: and R(8, 14, 2C) then find the values of a, b
31_';}!(;-6). 6-x>11-2x and c. 3
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f{:}=—|li-
OF
f1.-f(1 i
I £(a) =%, fna FA=HD. )
o i 13 . P T O.

30. Using the Principles of Mathematical Inducti
Prove that :
‘(n{n + y"\lﬁp
1’+23+3’+..,....+n3=L 3 f—J.

31. A fair coin with 1 marked on one face and
on other and a fair die are both tossed,

fi
the probability that the sum of numbers thj
turn up is :

(a) "3
by 12

Or

If E and F are events such that P[E]=%,
P{F]--zl— and P(E and F‘}-%, find :
(a) P(EorF)

(b) P (not E and not F). 4
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SECTION-E

32. Find the general solution for the equation :

SINBxX +cosx =0,

Or

Find the value of other five trigonometric

functions if cosx= -»%,

quadrant,

x lies in 3rd

5

33. Using Binomial theorem;, evaluate (98)°.

Or

Find the middle terms in the cxpansion of

(. =Y
Lﬂ ~—E-J .

EI-l.Findt-henumtnntermnufﬂmnqnm

s Tha: T Ty TETT, i
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35. Find the mean, variance and standard dWi.tjﬂu
using short cut method :

Clasaes
3040
40-50
50-60
60-70
70-80
a 80-90
90-100
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Frequenecy 5
3
7
12

" 1B




